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INSTRUCTIONS

1. All questions are of objective type having four answer options for each.

Category-I: Carry 1 mark each and only one option is correct. In case of incorrect answer or

any combination of more than one answer, % mark will be deducted.

3. Category-II: Carry 2 marks each and one or more option(s) is/are correct. If all correct
answers are not marked and no incorrect answer is marked, then score = 2 x number of
correct answers marked + actual number of correct answers. If any wrong option is marked or
if any combination including a wrong option is marked, the answer will be considered wrong,
but there is ne negative marking for the same and zero mark will be awarded.

4. Questions must be answered on OMR sheet by darkening the appropriate bubble marked A,
B, C, or D. Question booklet series code (A, B, C, or D) must be properly marked on the
OMR.

5. Use only Black/Blue ball point pen to mark the answer by complete filling up of the
respective bubbles.

6. Write question booklet number and your roll number carefully in the specified focations of
the OMR. Also fill appropriate bubbles.

7. Whrite vour name (in block letter), name of the examination center and put your full signature
in appropriate boxes in the OMR.

&  The OMR is liable to become invalid if there is any mistake in filling the correct bubbles for
question booklet number/roll number or if there is any discrepancy in the name / signature of
the candidate, name of the examination center. The OMR may also become invalid due to
folding or putting stray marks on it or any damage to it. The consequence of such
invalidation due to incorrect marking or careless handling by the candidate will be sole
responsibility of candidate.

9. Candidates are not allowed to carry any written or printed material, calculator, pen, log-table,
wristwatch, any communication device like mobile phones etc. inside the examination hall.
Any candidate found with such items will be reported against and his/her candidature will
be summarily cancelled,

10. Rough work must be done on the question paper itself. Additional blank pages are given in
the question paper for rough work.

11. Hand over the OMR to the invigilator before leaving the Examination Hall.

12. This paper contains questions in both English and Bengali. Necessary care and precautions
were taken while framing the Bengali version. However, if any discrepancy(ies) is /are found
between the two versions, the information provided in the English version will stand and will
be treated as final.
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LIFE SCIENCES
Category-1 (Q. 1 to 30)
(Carry 1 mark each. Only one option is correct. Negative marks : — 4)

Disease that occurs due to the presence of excess nitrate in drinking water 1s

{A) Adams syndrome (B) Blue baby syndrome

(C) Blueberry syndrome (D)  Turner syndrome

ST we SifeRes WEEET SefEfece el w

() oo gl (B) YR BEmm () g BEEs (D) Bt g

Homologous organs have

(A)  Similar structure and same functions

(B) Different structure and different functions
(Cy  Similar structure but different functions
(D} Different structure but similar functions

TAALG W 4l AT

(A) SR o167 @ SioR T (B) ey 1571 0 i Koy

(C) e o167 g ol Ay (D) Ffon ot farg w1 o

Which one of the following is nat an in-situ conservation 7

(A) National park {B) Sanctuary

€y Zoo (D) Biosphere reserve

Hwa wRE BF B3 wwwed 79 7

(A) e Ty (B) ST&ARS

() o (D) AR e

Which one of the following is not a neurctransmitter ?

(A) Acetylcholine (B} Dopamine (C) Insulin (D) Glutamate

oy W e FEEGr-omE 73 ¢

(A) SfBEEE (B) (o (©) EFem (D) oG

Which one of the following is an example of local hormone ?

(A) Thyroxin (B) Adrenaline (C) Testosterone (D) Serotonin

foryros e (@R I TaeeET GriEad ¢

(4) AEFER B) iR (C) BEICHA (D) B

The movement of chromatids towards the opposite poles is the characteristic of which

phase ?

(A) Prophase (B) Metaphase (C) Anaphase (D) Telophase

Frofie Teed T (ERTIBLe™ boTa (Ol it (R8T 2

(A) ores (B) TICTFS (C) ST (D) wEEes
e e T R T
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Which part of human ear is responsible for maintaining the balance of the body ?

(A) Ear ossicles (B) Oval window

(C) Semicircular canal (D) Eustachian tube
TFCER IR (S, S0 TACER SR e 0 ¢

(A) IO TESIE TR (B) GO EH

(C) wigEwE e (D) EBCERER TE
Which one of the following groups contains all biodegradable materials 7
(A)  Grass, flower, leather (B) Grass, plastic, wood
(C) Vegetable peels, glass, balloon (D) Glass, wood, brick
s T e v Semiae S R ¢

(A) |, T, GG (B) i, AR, w10

(C) SR TR, 06, (e (D) <5, Fl5, T6

in which hotspots of India, you can find one-horned Rhino ?

(A) The Western Ghats (B) Sundaland

(C) Indo-Burma (D) Eastern Himalayas
SIS [ Eh0-« SN G S| (140w 7 ¢

(A) ofFewab (B) TWIENS ) Brwi-ad (D) 7% TErE

Suspended particulate matter (SPM) is related to which of the following ?

(A) Water pollution (B) Air pollution (C) Sound pollution (D) Soil pollution
Suspended particulate matter (SPM) i e v e 7

(A) orE TR (B) g vEa (C) = Ed (D) B el

Which character of pea plant was not considered by Mendel in his experiment ?

(A) Seed form (B) Stem length (C) Flower colour (D) Leaf size

B Ted ToT CARiEE Crse Sin SIS ey Fe SR 2

A) Ve (B) TS OS (C) TERFS (D) #Arerd Tl

The nitrogenous base which is found in the RNA is

(A) Adenine (B) Cytosine (C) Uracil (D) Guanine

AR @B RNA 19 *IE = O €&

(A) SIS (B) EERE () EEabeE (D) Al
e B e o e e
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13.  The fungus used in bread making is

(A)  Aspergillus niger (B Penicillium notatum

(C)  Mucor mucedo (D)  Saccharomyces cerevisiae

870 LSS (9 Tael wraws & ol w5

(A) Aspergillus niger (B) Penicillium notatum

(C)  Mucor mucedo (D)  Saccharomyces cerevisiae
14. Lactobacillus is beneficial to us because

(A) It can destroy toxin in human body

(B) It helps in breakdown of food and absorption of nutrients

(C) It can fix nitrogen

(D) 1t can cause diarrhoea

Lactobacillus SRR G o arael

(Ay «fb werER T e omid 98 <

B) «aft GE «fRere @ R eI ey $E

(C) «ft RGeS Fog $H@ AN

(D) af SR @ w0
15. IfBOD increases, the demand of which gas in the wetland increases 7

BOD 4G S (1A et sl 4w ¢

(A) 0, (B} CO, (C) NH, D) H,S
16. The disease AIDS is caused by

(A) Bacteria (B) Virus (C) Protozoa (D) Fungi

B (Aol e 2o

(A) AR (B) ©igEm (C) ISt (D) w@®
17. The theory of Natural Selection was proposed by

(A) Darwip (B) Lamark (C) De-Veries (D) Mendel

i R wgft 1 et 2l

(A) CREEA (B) N ©) T (D) wwest
e — - “*““mm“"“*“-“““”'"*"'W"E]f@:@m
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18.  Which one of the following plant products is used in the treatment of malaria 7

(A) Caffeine (B) Quinine (C) Morphine (D) Resin

Frfeire B ~wmitds R ek By T 217

(A) TICTEA (B) FaTIH (C) SR (D) TEfE
19.  Which of the following is not included in mangrove adaptation ?

(A) Tolerance to salt water (B) Fleshy stems and leaves

(C) Formation of pneumatophores (D) Viviparous germination

Aot T @R e S (T TGS T ?

(A) NG O FEPAETSl (B) I FG @ ISl

(C) FETIBIL 457 (D) FofeTiast STECAmA
20. Which type of plants shed their leaves in winter ?

(A) Deciduous (By Conifers (C) Evergreen (D) Grass

T, AR ST eI TSR TSl A ?

INIRG (B) SREE ©) faefe (D) w9
21.  Leucoplasts are found in cells of

(A) Animal (B) Fungi (C) DBacteria (D) Plant

FBrGTIZIB AR TP AN I

(A) ot (B) w@ () @ (D) efew
72.  The process of removal of anthers from a bisexual flower 1s called

(A) Tagging (B) Bagging

(C) Emasculation (D) Cross pollination

@ Aators SofeRt T SISy SoPEs wal T O A

(A) a4 (B) lerEaaa (C) EAGTGLETA (D) g i T
33, The red blood cells of camel are

(A) Spherical (B) Oval (C) Polyhedral (D) Rod-shaped

(A) TR (B) Mm@ (C) FTTEH (D) WO

24. In micropropagation, plantlets are generated in

(A) Water (B) Suitable soil

(C) Suitable culture medium (D) Sand

ST -4 ArBED el (A BoH =

(A) wE (3)  Borge wft ©) Forge gENT (D) e

e e e e e e e P S e e e e i T R e e e T _h?'_:..._@_n e e e e
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25.  During cell division, spindle fibres are attached to chromosomes at the

(A) Telomere (B) Centromere

(C) Chromomere (D)) Nucleolar organizer
(1Y [ROTS(AR F (F00F (@IS (8 SRU R 0 RS =Y

(A) TEEIREE (B) RS

(C) TEECErE (D) TERPGaR SRR

26. Plants inhabiting in extreme desert environment are called
(A) Hydrophytes (B) Mesophytes (C) Xerophytes (D) Schizophytes
Pl T SRR TR ST w6l €1
(A) TERWGEEEA  (B) (ICTWOA (C) THCATIEEN (D) PrweEs

57, Which of the following is found profusely during the process of eutrophication ?

(A) Algal bloom (B) Eggs of mosquito

(C) Huge aquatic animals (D) Migratory bird

fRpa corfB SBTIREI dfEmar ST egw AR S W ¢

(A) (¥R YN By e W ©) oo wEm Af (D) oA

98. Insomnia and hypertension is caused due to
(A) Soil pollution  (B) Noise pollution (C) Air pollution (D) Water pollution
W g@z Br5-FEBICPR P T

(A) G vpEs (B) It Sl (C) g waEd (D) @ qad
59.  Which one of the following statements is incorrect ?
(A) Gene is a sequence of nucleotides (B) DNA is transcribed into mRNA
(C) Genes cannot be changed by any means (D) Genes can be mutated
e Sforefr W (oA e T 2
(A) for e ETEabEred e (B) DNATI® mRNA @7 o gitAvER

(©) forTe wReEd AR T (D) ferera Rree 9@

30. How many pairs of nerves constitute the peripheral nervous system of human ?

(A) 12 pairs (B) 43 pairs (C) 31 pairs (D) 10 pairs

s o Aged @ eyt A e S

(A) 12TET9l (B) 43TEel (C) 31 e (D) 10 el
__._,W__M,.__N__-_.,ﬁ_._"_m_-mw_ﬁ_ﬁ_m.,,..m_w.___w,,__._“M_W___w,___...w.w.“-.l;.iﬁ_@_..m-m__ww..
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LIFE SCIENCE
Category-11 (Q. 31 io 40)
(Carry 2 mark each. One or more options are correct. No negative marks)

31. Inhibin is secreted from

(A) Sertoli cells (B) Granulosa cells

(C) Complementary cells (D)  Seminiferous fubule

R e 1A Wi wy

(A) =BT C=ere @) afEEm

(©) s (D) rofAceEaeT B8 RTH
32.  Which of the followings are purine base ?

(A) Adenine (B) Cytosine (C) Guanine ()  Thymine

fferfieaiem wmE Prokm o e

(A) wEiE (B) IRGIER (©) o (D) VAR
33.  Which components are found in phloem 7

(A) Sieve tube (B) Tracheid

(C) Wood fibre (D) Companion cell

CICEa-« (i Govme e sihea 9y ¢

(A) PretwE (B) GifFo (C) T P (D) TR

34, Identify the correct sentences
(A) Telomere contains heterochromatin
(B) Bukaryotic chromosomes do not have histone proteins
(C) Euchromatin region does not carry active genes
(D) Spindle fibre attaches at the centromere
Wiw qETefH wHe w9
(A) EIfEEE EEEEt are
(B) BSwifafle wrraceics Rrbi (s A W
(€) ESreEIbT e ey & ()
(D) Porwer igar CFERE e 2

35, Which of the followings are examples of C, plants ?

(A) Potato {B) Rice (C) Maize (D) Sugarcane

e CorefE C, e Suigee 2

(&) @ (B) © v D) ==
et R et £ e, S e o, At B 1 A TRt . R i e A o S AT £ e e —— R ot “"“"“%‘l@%
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Which of the followings are mosquito-borne disease ?

(A) Dengue (B) Malaria (C) Yellow fever (D) Chicken Pox
fFraffosfen W e spi-aEe e

(A) % (B) Wi (©) *hogE (D) e T
Which statements regarding TMV are false ?

(A) ltisa bacteriophage (B) It's genetic material in RNA

(C) [tisaicosabedral virus (D} It infects tobacco plant

TMV =i (i Sierefd g ¢

(A) «ft asf rERees (B)  «fbw e s 7E RNA

(©) <t @l TEEHIRG SR (D) «ft S g HWIET T CE
Identify the correct statements regarding meiosis

(A) It occurs in somatic cells (B) Four daughter cells are produced
(C) Crossing over does not oceur (D) ltis a reductional division
fraife oo = Sfrefs R o=

(A) @ orE (0T 90 (B) BRG www (i TAH 7

(C) wEPRESN TG (D) @ aafe g o

Ideniify the correct statements from the followings

(A) Rhizobium is a symbiotic nitrogen fixing bacteria

(B) Leg-haemoglobin is present in bacterial cells

(C) Conversion of nitrogen to ammonia is called denitrification

(D) Nitrogenase enzyme converls nitrogen to ammonia

R fresf e T Bieh Wi w9

(A)  Rhizobium 5 AR Ardgaces F gl B

(B) (et FRCaai <o THICE Ao

(C) ABHIEE SIS HRfe QAT B GireH aE
(D) ARG BT ARG ST oo B

Which characters are found in fungi ?

(A) Cell wall made up of ¢hitin (B) Unicellular and prokaryotic organisms
(C) Presence of coenocytic mycelium (D) Reserve food is starch
oA tePErefe T (THCe TN W 7
(A) TEEgsE R @ R () @aTwtH @ Rl wh
(C)  wrraE wEeAEE $4Ee (D) T3S AW TeT TPV
I A —— — I
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PHYSICAL SCIENCE
Category-I (Q. 41 to 55)
(Carry 1 mark each. Ouly one option is eorrect. Negative marks : - %)
Suppose that at any certain temperature, 20 g of common salt dissolved in 50 g of water

e

makes a saturated solution, Then at that temperature, what is the solubility of common
salt in water 7

(A) 70 (B) 40 (€ 30 (D) 1000

T T (I TS O 50 g WA 20 g SR TR GEF 3 AT G S
97T | SllE & SefalErd SE @ FEe Y] B ¢

(A) 70 (B) 40 (C) 30 (D) 1000

In the following table select the correct matching between the compounds named in first
column and the classification names given in the second column.

Compound Classification
(1) CaO (a) Acid
(2) NaOH (b) Base
(3) CaCl, (c) Adkali
L(4) HNO, (dy Salt
(A) 1-b,2-¢,3-d, 4-a (B) 1-a,2-b,3-c,4-d
(C) 1-d,2-c,3-a,4-b (M) 1-b,2-d, 3-¢, 4-a

Frr AT sew sy wea Csef Gréty e e i AmefE Wi FAGHT
efy 3% |

Compound Classification
(1) Ca0 () PG
(2) NaOH (b) EE
3y Call, (c) W
4) HNO, @ == J
(A) 1-b, 2-c, 3-d, 4-a (B) 1-a, 2-b, 3-¢, 4-d
(C)y 1-d, 2-c, 3-a,4-b (D) 1-b, 2-d, 3~¢, 4-a

Molecular weight of oxygen and nitrogen are respectively 32 and 28. Also at normal
temperature and pressure, the yolume of 32 gram of oxygen is 22.4 litre. What will be the
volume of 28 gram of nitrogen al the same pressure and temperature ?

(A) 22.4 litre (B) 19.6 litre (C) 25.6 litre (D)  44.8 litre
e 8 WEGEETE SIS e TERCT 32 8 28 | syt Gwest @ IO 32 &l
e SR 22.4 BB | SRt & GFE Tl ¢ 28 sl FBIHCSTNS ST T
EICh N

(p) 224 0 ®) 19.6 R (©) 256 FER D) 4480

e s ke et A, e s e b ST T B ot ey g i B R S

(6] (g
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If the volume and pressure of a certain amount of an ideal gas are respectively V| and P,
at an absolute temperature T, and V., and P, respectively at another absolute temperature
T,, then which of the following equivalence relation is correct ?

it il TR SIfEse (e S BT T, S S W  Bisl A V, e P
TG G T, I GO T V., @ P, %8 O Fpw (o srrgeryel wlkegelfd b ¢

BV, BV PT, BT

Ay Al=-l2 B) —L-22
Tl 12 VI V?

© —-f ©) PYVT, =P,Y,T
VITI \/2’1"2 P11 27272

When parallel rays of light coming from a faraway distance fall on a concave misror
parallel to its main axis, they meet at a point after reflection. This point is called

(A) pole (B) centre of curvature

(C) focus (D) axis

FENT TR WIS SIEEdn] 990 e Wl N oI9S g
Afswaeg o gfs Revre RifFe o9 | (1% R 4@

(A) Tap (B) <Ol R (C) T (D) =

Suppose that the focal length of a convex lens is f. If an object is placed at one side of the
lens on its axis at a distance 2f

(A) Aninverted image will be created on the other side of the lens at a distance f.

(B) An erect image will be created on the other side of the lens at a distance 21.

(C) An erect image will be created on the other side of the lens at a distance 1.

(D)  An inverted image will be created on the other side of the lens at a distance 2f.

WA T G0 TG (EIE (PO EY £ | O FEty gIte e eee 09 2f
TG b B AE

(A) R e e ey aalt s o SR 9w

(B) TR W A 2f iR @S fE s sfeRey ofE v

(©) TR e e £ Eee @afo s ofefey 8 wE

(D) TR wor e 2f wang asfh el fely 9 v

Select the right answer.

If a ball is thrown straight upward, when it reaches its highest position, its
(A) potential energy is zero and kinetic energy is also zero.

(B) potential energy is maximum and kinetic energy is zero.

(C) potential energy is zero and kinetic energy is maximum.

(D) potential energy is equal to kinetic energy.

e Sl P o9

TS w5 e @ﬂmgwﬁ@wtﬂ% wwﬁﬂmmwmt%a CEORUIG

(A) B 2oy o sfefems oy aa) () fafeifer v o sifeuifes o 2 |
() fafomfes o @ sl swxfw =W (D) RfeRE o sfeefes s ey

o "i:]'“ LJ |

202 T A
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e o e e e P et i, e T e R T i T S e e e i et 78 RS ﬁﬂ@fﬁ%ﬂ
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Which one of the following elements does not easily participate in any chemical
reaction 7

(A) Carbon (B) Sodium (C) Argon (D) Nickel
fraes Tt fora s e SRS (e et [ e ST A
(A) & (B) eIfeany (C) et (D) Rewe

The foul smelly gas that evolves when dilute sulfuric acid reacts with ferrous sulfide at
normal temperature is

(A) hydrogen sulfide (B) methane

(C) carbon mono oxide (D) nitrogen

el SITSIAT 71 ARG SHiTeE S (R HEreR(ed e 1A weferas oD
G 2y Il 7

(A) BIRTGST HETHEE (B) Taw
(C) & WASHEY (D) ARG

Which of the following is an electrovalent compound 7

(A CH, (B) CO, (C) NaCl (D) H,0
firses Tastefer STay (PIRMG S Cle 7
(a) CH, B) CO, (C) NaCl (D) H,0

Select the correct answer.
When a ray of monochromatic light of red colour passes through a prism, we get on the
other side

(A) only one red coloured band of light

(B) seven bands of light of colours violet, indigo, blue, green, yellow, orange and red
(C) only one band of light of green colour

(D) no band of light at all.

sy Geaf WS w4 |

ol wiet aed it 7w e sy fca Coitet et face

() @wfo e #iE qee AT ehed we |

(B) e, Ter, S, e, T, T @ T a2 el wred 78 ohal A |

©) 9ol @ wge wed A iew WE |
(D) TG S AR st e |

i 3 B Sy S e
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A student was cycling to her school at a uniform speed 10 m/sec. She pressed the brake

near the gate of her school and stopped in 5 sec. How much force she applied through the
brake ? Consider the mass of the student and the cycle together is 50 kg.

(A) 50N (B) 200N (C) 100N (D) 10N

TS TE@ 10 m/sec TRAMG(® WA GIFE B W | FET (O SNE @ T 79
B2 8 5 TILFCSH 0 TN WY | G [Eed R 4 96 Tl SR ¢ wE e,
7A@ WERRTHD U O 50 kg |

(A) 50 fE5H @®) 200fEs  (C) loofiEsw (D) 10fEEA

Select the right answer.

An object will float in a liquid while completely immersed when
(A) its weight and the buoyancy are equal.

(B) its weight is less than the buoyancy.

(C) its weight is more than the buoyancy.

(D) both weight and buoyarcy are zero

Wi Gl v o

T q@w—ﬁtﬁwaﬁﬁa%www"ﬂmﬁmﬂﬁ?

(A) TG G ZS! A ZY | (B) T 9w YA (AT FA LI |
(C) F GO YO TACE (T 2 | (D) T GUR @ 7T G2 el ’A |

Select the right answer.

A Helium atom contains

(A) four protons and four electrons.

(B) four neutrons and four electrons.

(C) four protons and two electrons.

(D) two protons, two neutrons and two electrons.
wiow Soas Fvw T

a= il s AF9qre AT

() ol TE 6 w2 (B) B G @ vt AT

(©) v T e i BTEET ) TR, 1t Fehw ¢ "% BEg

Which of the following is a vector quantity 7

(A) Weight (B) Mass (C) Area (D) Time

Fropa G towT Ak e

(A) 9%H (B) ®¥ (C) THqwe o) T
mmmmmmmmmmmmmmmmmmm R E’ﬂ £:] e
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PHYSICAL SCIENCE
Category-11 (Q. 56 to 60)
(Carry 2 mark each. One or more options are correct. No negative marks)

A ball of mass 100 g is thrown vertically upward from ground with a velocity of 100 m/s,
What will be 1ts velocity and acceleration when it is at a height of 375 m ?

(Consider acceleration due to gravity = 10m/s?)

(A) Velocity = 50 m/s upward, acceleration = 10 m/s? downward.

(B) Velocity = 50 m/s downward, acceleration = 10 m/s* downward.

(C)  Velocity = 50 m/s downward, acceleration = 10 m/s? upward.

(D) Velocity = 500 m/s upward, acceleration = 10 m/s* downward.

100 g ST A0 TF(F G (A0 ST S 100 my/s T (N0t = =oet | gl (e
375 m GeFord IAbE (39 @ R T 7R ¥ (MF W9, Soder gad =10 m/s?)

(A) TR =50 m/s §Fe, gael 10 m/s? P |

(B) Tt = 50 m/s R, 290 10 my/s? e |

(C) @ =50 nv/s e, 939 10 m/s? T |

(D) T =500 m/s BEIR, 99 10 m/s? gL |

When a vocalist and accompanying instruments play the same note,

(A} Sound waves produced by all are identical.

(B) Fundamental (lowest) frequency produced by all are same.

(C) Sound content of other frequencies differ among them.

(D) Intensity of sound produced by all are same.

Y T AT @ SIS AT A 8 S E @ Ay, T
(A) Twe s HveEre T gfE Wl @R 19 e |

(B) CTO I oA YA I |

(C) TR W SRFE Sy IR remrefer oo ey 79|
(D) e ¢ oifl e Tge e siae T |

How can the gravitational force of attraction between two bodies increase four times 7
(A) Ifthe mass of any one body increases four times.

(B) If masses of both doubles.

(C) If the distance between them increases four times.

(D) Ifthe distance between them is halved.

AE TR T TS0 WD 9 WOy Weleer et W 51 94 i@ T 7 7
(A) i Tt 5t wFH B9 51T o g |

(B) i nG%E w3 Red g 71|

(€)% wiow e Ee B e 3 oY |

(D) a5 o W R o 2 |
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If a thin hollow metal cuboid of weight W gram and each edge L cm is gently released in
a tank of clean water, then which statements are true 7

(A) 1t will float if W <L,
(B) Tt will sink if W < L3,
(C) It will float in fully immersed condition if W =L%.
(D) Tt will sink if W =172

gE W A 8 sl «w L om KR a9 oo Ared INEE Gl “ifFETd
LI S (=TS (RSH B e o e Efemef wie vy

(A) AW < L3 79 S(E 4Sfs SPT AE |

(B) =W < L3 T O DD Gl A |

() W W =13 TE e el oo s sy Ui A |
(D) =i W= L3 =¥ ST 4wt Gl A |

Distance v

a

Time

T
Distance-time graph of two bodies X and Y are shown. Which of the following
statements are true ?

(A) Y has higher initial speed than X.

(B) Y moves with uniform velocity.

(C) X moves with uniform acceleration.

(D) Aftertime T}, Y's speed is higher than that of X.

X 8 Y w5 w@a qag- vy terfpe (T €A | s (e o B fer AE ¢
(A) Y47 AR GRS K- A w7 1w Ak |

(B) Y STSCACA BCA |
(C) X T BUE |
(D) T, TR PG Y -7 Ao X% T T L
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ENGLISH
Category-1(Q. 61 to 75)
{Carry 1 mark each. Only one option is correct. Negative marks : — /)

Choosc the word, which can most appropriately replace the bold italicized words in the
given sentence.

A person can be sentenced to death for kitiing another iuwman being.

(A) patricide (B) homicide (C) genocide (D) fratricide

Choose the option, which can best replace the group of words given :
‘One, who possesses varied talents’
(A) versatile (B) talented (C) gifted (D) excellent

63. Observe the two italicized words in the following two sentences and give your
observation by choosing any one option below.
L. We should not interfere in one’s personal affairs.
II.  The personel of civil services are a proud lot,
(A) Only sentence-] is correct
(B) Only sentence-11 is correct
(C) Both sentences [ and If are correct
(D) Neither sentence I nor sentence Il is correct
64. Choose the most effective word to fill in the blank to make the sentence meaningfully
complete.
Only those who have completed seventeen years of age are ___ to apply for the
examination,
(A) eligible (B) legible (C) selected (D) illegible
65. Fill in the blank with the most appropriaie word/ group of words to make the sentence
meaningfully complete.
The horse stampeded and tore _______the street.
(A) after (B) off (C) down (D)} out
66. TFill in the blank with the most appropriate word/ group of words to make the sentence
meaningfully complete.
Mohan tries his best to keep the reputation of his family.
(A) up (B) over (C) to (D) on
67. Find out which part of the sentence has an error.
If we have faith in Almighty /ever)rlhmg will turn out / to be alright / and safe
(4) B) (C (D)
68. Select the wrongly speli word.
(A) Immature (B) Impasse (C)  Immaculate (D) Immpeccable
69, Select the wrongly spelt word. | .,
(A) Evasion (B) Ovation (C) FErosion (D) Oceassion
70, Seleet the correctly spelt word.
(A) Cemetry (B) Cemetery JCZM%WPT@QM_M,._"_C ) Cemmetery
: LS A, A, et S
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76.
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Select the correctly spelt word.

(A) Appropriate (B) Apropiate (C) Apropriate (D) Appropiate
A sentence is given in direct speech. Qut of the four allernatives given select the one
which best expresses the same sentence in indirect speech.

He said to me, “What time does the office close 9”

(A) He wanted to know what time the office close.

(B) He asked me what time did the office close

(C) He asked me what time the office did close.

(D) He asked me what time the office closed.

Choose the word, which has nearly the same meaning as ADMONISH.

(A) Praise (B) Appeal (C) Support () Rebuke
Choose the word, which is opposite in meaning to JEER.,

(A) Clear (B) Mock (C) Praise () Sneer
Choose the word that can replace both the words in bold italics in the two given

sentences.

I, The management did not find him sudtable for the job of a clerk.

I[I.  Akash could not errange all parts of the machine properly.

(A)y fit (B) employ (C) finish (D) adjust
MATHEMATICS

Category-1 (Q. 76 to 85)
(Carry 1 mark each. Only one option is correct. Negative marks : - Vi)

Sujan and Tapan together finishes a work in 8 days. The same work is finished by Tapan
and Ashok together in 6 days and by Sujan and Ashok together in 4 days. If all threc of
themn start the work together, how many days will they take to finish the work 7

AT @ OO G T Bl 8 A T R | O @ AN G S8 T 6 A (o
B @9 IO G S GEIE 4 P o0 &R | A R wWE il A i (Al A
B(E G PO (14 TS SO AW I w5 2

(A) 3-2days/fﬁw (B) Q%days/ﬂ“r»r ) 2 %days/fﬁm (D) 3 days / s

There are three square shaped park adjacent to three sides of a garden of shape of a
right-angled triangle. Area of the two parks adjacent to the perpendicular and to the base
of the right-angled triangle are 400 sq. m. and 225 sq. m. respeciively. What is the area of
the park adjacent to the hypotenuse 7

(A) 25sq.m. (BY 175 sq. m. (C) 500 sq. m. (D) ﬁ62§ §q. M.
aqeofts st Rrwerspte Aol ol wrm wreene RowfE 2l A i | Al feagrera =
@ ©ff e oNF qa (U T 400 W BB @ 225 4 B =y W wleww
LA ARBOR TPl T 7 _
(A) 253 RER ®) 1753 fbm () so0wdREE (D) 625 ﬁe-"f EEE!

i i R WAV,
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78, There are 50, 45 and 40 students in three classes in a school and average age of the

79.

80,

81.

83,

students in these three classes are 8, 10 and 12 years, respectively. What is the average
age of the students of these three classes taken together ?

(A)  Almost 9.85 years (B) Almost 6.75 years

(Cy Almost 8 years (D)  Almost 12 years

(e foaft AT wi@ TRAn WA 50, 45 © 40 @ @ oAl i Teme e
A GAGFCT 8, 108 12 927 | Oigrel @ 6+ @i «a@ et gwe 5y 90 99 9

(A) 998592 (B) AM675WER () AW S EwH (D) #f 12 9%

The roots of the quadratic equation 3x% — 10x + ¢ = 0 are reciprocal to each other.
Thenc =

(A) 2 (B) -2 ) 3 (D) -3
3x% - 10x + ¢ = 0 Ao e AemfB “a=irse Qe € ¢ =
(A) 2 (B) -2 C) 3 D) -3

. : o B.
The quadratic equation of x whose roots are —and = is
: o

¥~ (7 e Wi qergy -E‘-\:a E, B Tl
0

(A) apx?—(@?+phxr+ap =0 (B) apx?+ (@ +pHx+oap=0
(©) apx?+(a?+pHx—-ap=0 (D) x?— (2 +BHx+1=0

The length, breadth and height of a rectangular cube of copper are 15 cm, 11 cm and
& cm. This cube is melted and converted to 35 identical solid cylindrical rods. If the
height of each rod be 3 ¢m, then what will be the diameter of each rod ?

(A) 4dcm (B) 6cm (C) 8cm (D) 10cm

i (ofE @l STTeAEE W, ¥ ¢ Se5el R 15, 11 8 8 (| SeewRaB
affeIca T e 35 5 e evagare feab (vhe (ol e we | W0 2 whe 3 i s
T GIE(E BleeFa v % 7ra e

(A) 4w (B) 6T (C) 8T (D) 10T

. IfcosO +secH=2 thensin®® 0 +cos? 0=

W cos O + sec © = 2 TF, S sin?? 6 + cos?? 0 =
(Aa) 0 (B) 1
< 2 (D) None of these / THIFTIE w7

At 10% interest rate, what will be the ratio of simple interest and compound interest of a
principal in 2 years ?

10% Eic, TR BIFIE 2 TE(RE Rel 97 @ v@gfa T WS $9 89 7

(A) 10:11 ®B) 1110 (C) 20:21 (D) 2~1 20

e

mefe)
VLY . ' Sorii A
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84. Divide 42 in two parts so that one part is equal to the square root of the second part.
(A) 21,21 (B) 14,28 (C) 36,6 (D) 32,10
42 T QT 7D S Roes 39 T G S S ST AT I 2
(A)y 21,21 (B) 14,28 {C) 36,6 (D) 32,10
85, Madhab deposits 10,000 for two years in a bank at compound interest rate of 6% and
his brother Nabin deposits same amount of money for the same period at simple interest
rate of 6%. After two years, who will receive more money and how much more ?
(A) Madhab, T 72 (B) Nabin, ¥ 36
(C) Nabin, T 72 (D) Madhab, ¥ 36
T T TE 6% veegiE W RICE 10,000 Bl G2 TQLER Ty Wl AET 3 O GiE
A8 B A 6% S A TR G E SR DI AR AR Wy G AN | 8 A
S T2 (I BIT 27" e % T3 il ?
(A) ==, 72 B (B) @9, 36 Bl
(C) i, 72 Bl (D) T, 36 B
GENERAL KNOWLEDGIE
Category-I (€. 86 to 95)
(Carry 1 mark each. Only oue option is correct. Negative marks : — )
86. Which city is known as the blue eity of India ?
(A) Bengaluru (B) Agra (C) Jodhpur (D) Delhi
GOR (I “TEHCE Aot ¥ T 7 2
(A) T (B) i (C) TINIA (D) W
87.  Sodium bicarbonate is commonly known as
(A) Baking powder (B3) Table salt (Cy Vinegar (D} Ajinomoto
s AR Fymeres F wgh ARl ¢
(p) e T (B) TR ERA ) fefasm (D) i fean-=]
88. Which is the largest bone in human body ?
(A) Humerus (B) Femur (C) Coceyx (D) Calcaneus
TRE (ACEE IR g TG ¢
(A} Humerus (B) Femur (C) Coceyx (D) Calcaneus
89. Galileo was an Italian astronomer who
(A) developed the telescope.
(B) discovered four satellites of Jupiter.
(Cy  discovered that the movement of pendulum produces a regular time measurerment.
(D) All of the above are true.
S erfefdn smEns
(A) AR TE (o SR |
(B) 3 are b Geta SRR SR |
(C) iRl AR Ca (o RGaT HaiCa et At Tr|
(D) Gtz R R ST | .
e e o T LD
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90. Entomology is the science that studies
(A) The origin and history of plants. (B) Behaviour of human beings.
(C)  Insects. (D) The formation of rocks.
fresicrg @b« arebicasR ey o
(A) e e e e (B) wREEew 43 |
(C) T TG | (D)  2IBCEF 1o |
91.  Hach year World Red Cross and Red Crescent Day is celebrated on
(A) June 8 (B) June 18 (C) May8 (D) May 18
2o Tew ) (70 w1 8 (3w Reers e sifére v gl i ¢
(A) w8 g (B) S8 g (C) vEw (D) SvE T
92. Ms. Meera Sahib Fathima Beevi has the distinction of being the first lady
(A) Prime minister of Pakistan
(B) Judge of the District Court of West Bengal
(C)  Chief Minister of a State in India
(D) Judge of Supreme Court of India
ereiyre Ehafe St sices e {RiE e,
(A) NI 2 SR s |
(B) ~iFewarra o emimres s wiaw feiwsi |
(C) SRCSH (FF T e TR L& |
(D) RIS e THiha s wiEel Rp@eis |
93. The biggest part of the brain is
(A) Spinal cord (B) Cerebellum (C) Cerebrum (D) Brain Stem
Wered gEen sl wre
(A) TIEwg (B) iR (C) T (D) WENEN
94.  Which is the first mRNA vaccine that got Emergency Use License in Incia 7
(A)  Sputnik (B) Sinovac
(C) Moderna mRNA 1273 (D) Pfizer vaccine
T mRNA SHEHGEE SRS g9T SoRFee graiee sigeT (e e €I ?
(A) bR B) Praens
(©) el mRNA 1273 (D) RS G
95,  Who is known as the Flying Sikh of India ?
(A) Milkha Singh  (B) P.T.Usha (C) Jagjit Singh (D) Sourav Ganguly
FF BuS e 92 7Y 7
() firer e B P © o @) cﬁiﬁ“_ © Al
e e 1 St ke A e ATy e e e, e o TR P M e S e e e s m—— mg |
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LOGICAL REASONING
Category-I (Q. 96 to 100)
(Carry 1 mark each. Only one option is correet. Negative marks : - ¥)

Which of the following figures does not belong to the series ?

O D =0 O

Find the odd one out.
(A) DBoat (B) DBus (C) Tax (D) Rickshaw

Find the right option below where the two given words have the same relationship as,
‘MAN -~ CROWD’

(A) Cow-0x (B) Sheep — Flock

(C) Loudspeaker — Sound (D) Train — Engine

Choose the right option to fill in the blank.

MOON : SATELLITE : : EARTH : 7

(A) Star (B) Solar system
{C) Sun (D) Planet

Select the right option that will replace the question mark and continue the pattern.

O A AO
o - SR IS ey S LNy (}
A‘ r= o\ =70 0_1 a

Choose the right option.

A o ol
- O (B) O A‘““‘?’ () A (D) AT
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A |
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